Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - vl « EXAMINATION - WINTER - 2017

Subject Code: 3360502 Date: 06-11-2017
Subject Name: CHEMICAL ENGINEERING PLANT ECONOMICS
Time: 02:30 pm to 05:00 pm Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulclotl Fcllol AL,
What is Depreciation?

UAHERIoA 9 B?

What is specification sheet?

AALS32u0t uals 9 B?

List out methods of profitability

astsRscl ol UtdcdlAlell aLEl viatlal.

Give check-list for pilot plant.

wedle weie Hie Ascllze wl.

What is Service life ?

Al cls Ned 9?

List types of cost indexes

sle B38tell Uslk Al

What do you mean by Salvage value and scrap value?
A GLOUR (B W GOUR (BH gLl 9 AU 17
What is Fixed capital investment ?

ARAA gl Astel 9 B?

List out principles of plant layout

A2 [Qoautdoll e dlllefl ael 4,

What is Break Even Point?

Qs 8ol W2 9 B?
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Q.2 (@ Explain Role of chemical Engineer.
Ysl.R () UL B0l st (A uul 53

OR
(@) Discuss types of insulation.

1) BoAotall YsRall wUl A

(b)  Discuss Plant design and its relation to sales.

(W)  Wllod (33186l Ual Aol QAR WA Aolue(l uAl 53
OR
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Discuss batch processing with example
GELERWL UA AU YlSauell 2w s
Write a short note on specification sheets
[@Qle (Qotdaulst sets (@ ¢seallu

OR
Write a short note on various types of flow diagrams.

(Al Ustrell SA SLALUH UR &5l ol vl
Explain any one cost index
S1eS URL WS Sl BodsU UHLA

OR
Write a short note on Basis for a good design.

AR AURAPLs AsHo{l AUl HIZetl AURL (A gsalltl AUl

Explain equipment selection procedure.
GUs20L uledll ueald uHA

OR
Write a short note on capital investments.

AURL A5 QA gsellu cull
Explain “Six-tenth factor rule.”
“¢9 €919 [AAH UHSA.

OR
Write a short note on optimum economic design

U5 s URRAA ARyl (A 5ol Al
Discuss standard equipments vs. special equipments.

QuiRd Gus:WaL ua (AR GuswL AL
OR

Write a short note on selection of size reduction equipments.

USRS Ass2Aot GUsANe{l Uil UR 5ol AL,
Write a short note on selection of heat transfer equipments.
Gl AsHEL BUsWNel uied(l UR gsallel AUl

OR
Discuss principles of piping layout.
oA(Asl [Qoauetl Reaidlell uul 52,

Discuss about causes of depreciation
YARAAL S1R00 (A uq 83,

OR
Discuss batch processing Vs continuous processing.

des ulbal ual Add ylbal umedl.
Discuss standard equipments vs. special equipments.
QiR GuswL Aa (ARle GuswL Al

OR

Justify the statement-“Plant design not only must be technically satisfactory

but also must be economically viable.”

Uiz Ba8el 1A dsellsl AAUSRS % o8l Uq s I uel
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Q.5
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AR 8lg AU Umcl.

Describe analytical procedure for determining optimum condition with two
variable.

A AA AR A e dH URRAA otssl sal Hizo(l Ml uruld
celal

The following equation shows the effect of the variables X and Y on total
cost for a particular operation,
Cr=25X+12500 +1.75Y +10
XY
Determine Optimum values of X and Y

o(lAd] AHlsRl As WssA (Balell A (EHA HR AU wal cllA ofl
AU YHAA B.
C; = 2.5x + 12500 + + 1.75Y +10
XY

As WA A ol e BEHd 0.

The annual direct production cost for a plant operating at 70% capacity are
Rs. 2,80.000, while the sum of the annual fixed charges, overhead costs and
general expenses are Rs. 2,00,000. What is the break-even point in unit of
production per year if total annual sales are Rs. 5,60,000 and the product
sales at Rs. 40 per unit.

70% 3UlEl uR std sid sRcl wtie ol adls Al Geutest wal
280000 3Ulal &. >R s glsa vAlRA, AMads WU daul vt
v 200000 3Ulal B. 9l GURAsH Gue ol yolle €2 40 3l
ala el culs Qauwl ol s M1 560000 8l Al A5 Balol We

Yolle ol Geulgatotl Aealui aual.

The following equation shows the effect of the variables X and Y on total
cost for a particular operation,
Cr=25X+12500 +1.75Y +10
XY
Determine Minimum total cost

il Alszel 25 2AlssA (SA1dl 5@ [EHA HIZ 2150 vt AL <l 2142 A1md 9.
C;= 2.5x + 12500 + + 1.75Y +10

XY

dedH 54 [5Hd Al
What are the annual gross earnings for above example 5 (b) at 100%
capacity?

GURAS Ul ol U of Hi £90dct wetie 100% 302 ol A A, Al
st sHERll decll &l ?
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